restart;
?DEtools
fi=(x,y)->0.2*x*y;
fi=(x,y)—0.2xy
f(4,2);
1.6

with(DEtools):
with(plots):

Pl:=dfieldplot(diff(y(x),x)=f(x,y(x)),

y(x),x=-4..4,y=-4..4):
S:=x->exp(0.1*x"2);

2
s:= x—el ¥

P2:=plot(s(x),x=-4..4):
display(P1,P2);

(1)

(2)

(3)
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=> P3:=dfieldplot(diff(y(x),x)=x*exp(y(x)),

> s2:=x->In(2/(2*exp(2)-x
S2:

| > P4:=plot(s2(x),x=-4..4)
> display(P3,P4);

y(x),x=-4..4,y=-4..4):

"2));
=x—>ln( 2 )

e’ X

(4)
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(5)

%)

442e

33:=x—>ln(

x->In(2/(4+2*exp(1)-x"2));

> s3:

> P5:=plot(s3(x),x=-4..4):

> display(P3,P5,P4);
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=> dfieldplot(diff(y(x),x)=(y(x)-1)*y(x),

y(x),x=-4..4,y=-4..4);




S~

— S S S e e

N~ —

N~~~ S— < -

—_ T~

S~~~

— S S S e e

N~~~ —

N~~~ S— < -

—_ T~

— S S S e e

N~~~ —

N~~~ S— < -

— S S e e e

S~~~

— T S e e e

S~

T T T T s e e e e e e e —a —
L L L L S L et e et [ S L i i s s —

e G B
AV e AV

.
|
/
/
7
7
R SRR,

— TS S S e e

N~ —




